Kepler's Laws
Motion of earth + sun

$$L = \lim_{r \to V_{1}^{2}} + \lim_{r \to V_{2}^{2}} - \lim_{r \to V_{1}^{2}} - \lim_{r \to V_{2}^{2}} \lim_{r \to V_{1}^{2}} \lim_{r \to V_{2}^{2}} \lim_{r \to V_{2}^{2}$$

$$\vec{r} = (r\cos\theta, r\sin\theta, o)$$
And so negatecting the CM metion, the lagrangian
is
$$L = I M (i^2 + r^2 \dot{\phi}^2) - U(r)$$

$$2$$
The EOM
$$means L is independent$$

$$j of \phi$$

$$p\phi = \partial L = \mu r^2 \dot{\phi} \text{ and is cyclic}$$

$$d (\mu r^2 \dot{\phi}) = 0 \implies p\phi = censtant = l$$

$$dt$$

$$d (\mu r^2 \dot{\phi}) = 0 \implies p\phi = censtant = l$$

$$dt$$

$$= \frac{p^2}{dt} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi}^2 - \frac{\partial U(r)}{\partial r}$$

$$= \frac{p^2}{dt} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \sigma r \cdot \dot{\phi} r$$

$$= \frac{p^2}{2} - \frac{\partial U}{dt} = \frac{\partial U}{\partial t} = \frac{\partial U}{\partial t}$$

The EOM in the Hamiltonian setup Given the Lagrangian $L = I \mu \dot{r}^2 + I \mu r^2 \dot{\phi}^2 - U(r)$ • $p_r = \frac{\partial L}{\partial i} = \mu r$ $p_{\phi} = \frac{\partial L}{\partial \phi} = \mu r^2 \dot{\phi}$ Then $H = P_r \dot{r} + P_{\phi} \dot{\phi} - L, \quad \text{with} \quad \dot{r} = P_r , \quad \dot{\phi} = P_{\phi} \\ \mu r^2$ This yields $H = \frac{p_{r}^{2}}{2m} + \frac{p_{\phi}^{2}}{2mr^{2}} + U(r)$ This is The EOM are Veff (r, Pø) r = 2H/Jpr = Pr, and \$\$ = P\$. • $dp_r = -\partial H = -\partial V_{eff}(r, p_{\phi})$ • $dp_{\phi} = -\partial H = 0 \implies P_{\phi} = Constant$ $dz = \partial \phi$ = angular momentum is constant

Integrating the equation of Motion

· Finally this problem has a first integral Alternatively one could $E = T + V = 1 \mu r^{2} + 1 \mu r^{2} \phi^{2} + U(r)$ work with the Hamiltonian. $H = \frac{p_r^2}{2\mu} + \left(\frac{p_{\phi}^2}{2\mu r^2} + U(r)\right)$ $= \frac{1}{2} \mu \Gamma^{2} + \left(\frac{l^{2}}{2\mu\Gamma^{2}} + U(r)\right) \quad \text{and} \ H = E$ So the problem is essentially ID. Solving for r $\frac{dr}{dt} = \sqrt{2(E - V_{eff}(r))} = 2 \cdot dt = \sqrt{\frac{dr}{2}} \cdot \sqrt{\frac{dr}{E - V_{eff}(r)}}$ find, integrating from to, ro to t, r We $t - t_{b} = \int_{2}^{m} \int_{1}^{2} \int_{1}^{2} \int_{1}^{2} \frac{dr}{r}$ · Once is known we determine of, Since : $d\phi = \frac{l}{mr^2} \rightarrow d\phi = \frac{l}{mr^2} dt$ Let us express & versus r

Vielding the trajectory r as a fea of
$$\phi$$

 $\phi - \phi_o = \frac{1}{\sqrt{2}m} \int \frac{dr}{(e - v_{eff}(r))^{v_2}}$
Picture $u(r) = -\frac{v}{r}$ $v_{eff}(r) = u(r) + \frac{1^2}{2mr^2}$
 $v_{eff}(r)$ Centrifund barrier $\frac{v_{eff}}{2mr^2}$
 E for hyperbolic orbit
 E for hyperbolic orbit
 E for hyperbolic orbit
 $e^{W_{eff}(r)} \propto \frac{1}{r}$
• Of course we haven't shown yet that
the apen orbits are hyperbolar and the
closed orbits are hyperbolas. We will do
this shortly

Kepler (part1): pg. 6 N.B. The Langrangian US Hamiltonian 7 given the Lagrangian $L = \frac{1}{2}\mu \dot{r}^{2} + \frac{1}{2}\mu r^{2} \dot{\phi}^{2} - (u(r))$ Pø=mr2ø it would be a mistake to substitute p_{ϕ} into L and use it to determine the EOM of r. You have to find the EOM first, and then substitute $\dot{\phi} = P_{\phi}/\mu r^2$ The "problem" is that p_{\$\u036} is not held fixed, but rather \$\u036\$ is held fixed, when finding the EOM in the Lagrangian setup. Of course one could use the Hamiltonian (or Routhian --see homework) where pp is fixed $H = \frac{pr^2}{2\mu} + \left(\frac{p\phi}{2\mu r^2} + \mathcal{U}(r)\right)$ = Veff Then the effective potential comes; $\frac{dr}{dt} = \frac{pr}{p} \qquad \frac{dpr}{dt} = -\frac{\partial V_{eff}}{\partial r}$